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A g ] A 45 5 A5 L ¥ > SIS
F" -E)\ 1254&""%u: 63 .:—(}53‘! 53 ___.).'.!' FKT‘F iﬁ‘ri%? %‘C/'%T BENFEFEZ B S
;}q B &P BREE:H —, i B
ST
Al 4.1x0.45+3,505%2.35+5.7x11.37+4.15x2.7 = 8.3 1147.45+79.60+132.9+419.51+19.13422.9945.58 = 1427.16 ¢
A2 3.05x10.295+11.345x2.65+2.15¢1.675+ 2.6x4.82 =  77.6¢ B ARERRN
A3 0.8x2.17+2.8x5.075+2.5x3.52+6.775x3+8.375x2.75 135.7¢ < 1427.16x10%=142.72¢ ...OK
+0.45%1.675 = 68.86% B ARSI
Bl B.37x2.846.77x3+2.75x8.37 = 66.77¢ 79.60-1.71=77.89¢ < 1427.16x10%=142.72¢ ...0K
B2 0.85x1.475+2.625x7.125+10.475¢5.3+2.65x1.65 = 79.85¢ WA+ B ARE RN
B3 4.6x2.65+4.27x3.45+6.715x6.4+1.45x2.17+3.5%6.15 = 94.57w 135.74+77.89=213.50¢ < 1427.16x15%=214.07¢ ...0K
Cl 1.85¢5.75+5.3x1.33+7.44x9.6+1.15x2.65 = 9216w BT
€2 2x1.725+3.8x4.97+2.45x2.375+7.15x5.675+3.78x5.3=  88.77+ 132.9+19.13+22.99+5.58=180.6
DI 1.675x2.45+2.675%4.235+3x4.685+3.985¢2.775 ARG
+3.225x3.085+2.89x2.055+7.145x5.675 = 96.98¢ 1427.16-77.89-180.6=1168.67¢
D2 4.21x141.73x1.45+8.49x9.71+0.59x1.65+5.35x2 (ha) (nm)
+2.6x0.4 = 101.87¢ -
El 1.750.45+4.39.714+10.71x3.26 YT, = EEPERE 14F
E2 2.835x1+4.86%0.35+7.505x9.71+1.75x1.45 = 79.95¢
i FI 2.515x3.15+2.3¢1.05+1.885x2+9.435¢5.65 = 67.420 I REHERER
8 F2 7.65x1.85+6.5x8.15 = 6713w ARAB, CHAD1 I 774,45\ 128 ; D Bes| OB, 45 7. 65M %,
M R T At = 1147.45¢ HSE-HRAARE, A BN 052K
ABH (11~21K) — SERHN
L] BAEH (86.31+79.95+68.11+66.77+79.85+94.57)x11=5231.16 > 500¢
o N —— 11345 Al 1.0x3.775+4.3x1.3 = 937« CH (11~21M) — wERAAR® (92.16+88.77)x11=1990.23¢ > 500¢"
3 - o= 2 A2 3.795x1.0+1.95x2.6 = 88/n D (11~198) — RERG/RR
B =EE " A3 3x1.675 = 503 (96.98+101.87)x3+(96.98+91.70)x6=1728.63¢ > 500¢"
8 e 2 Bl 3x1.675 = 503« 8 (11~130) — %98 79.21479.95)x3=477.48¢ < 500¢
i | [ B2 1.95x2.625+2.975¢1.0 = 809« F (11~13 67.42+67.13)x3=403.65 < 500¢
. B3 4.27x1.675+3.351.0 = 1050
m o | O 368¢1.675+.6x1.1143.25¢1.0 SRR, T, HEEE R
; LB €2 2.97x1.8+1.0x3.37 = 8 ABH 3.76x2.68=10.08¢ > 10.00r...0K
s i : o8 i D1 3.226x1.675+1.0x3.375 = 878« C®  4.5x2.39+1.45x0.4=11.34d > 10.00#...0K
| 794 ; D2 1.525x2.55+3.12x1.2 = ;ggm' DB 2.45¢4.085+1.15x1.425=11.65¢ > 10.00...0K
i ig El 1525x2.55+3.12x1.2 = 763¢ N
3 (=] E2 2.921.525+3.12x.2 = 820¢ A FeR e bm R
> ,57 F1 2.3x1.525 = 35 ABE (17.36+17.25+10.08)=44.69¢
| . F2 2x1.425+1.925¢1.5 = 574 > (77.83+71.87+59.98+58.64+71.44+85.35)x3%=12.75¢
145 | O 4 ABHO.35x1.5+1.35x1.3+1.425x14.675+1.35x1.275 = 2491 CH  (31.07+11.34)=42.41¢ > (82.94+78.75)x3%=4.85¢
] o aﬁ DH 1.35x1.85 = 2500 D& 525.51+11.65;=37.16n' > 289.55+93.27gx3%=5.481‘
535 | . N = 13%.7¢
N o4 3 BT t BEERHE
8 i % RS AB 0.65x1.05+3.4x3.4+3.76x2.68 = 23w R
187 B R : . %2 BE 0.82x1.25+5.1x2.6 = 1429¢ Al 1.25x0.45+1.575x2.1741.652.725 =  B8.A48¢
SRR i e L == CH 2.25¢5.11 = 11500 A2 1.675x2.175+1.675%2.325 = 754d
2% Sabs ¥ e == DB 5.6x2.51 = 14060 A3 1.775x2.1+2.75x1.6 = B3¢
3 3 ig > e $ g2 EH 2.4x3.4 = 816« Bl 1.775x2.1+2.75x1.6 = 813«
< £ / X : re Fa 2.29x4.05 = 927¢ B2 1.5x2.65+1.675x2.65 = 84
1 ke | N = 79.60¢ B3 1.625x2.4+1.6x3.325 = 922¢
| ¢l 1.625x2.4+1.6x3.325 = 92
[ 2 n @ 2 [ » i 3 BEARM ERHH 2 3.355¢1.6+2.695x1.725 = 1002+
a & | A8 0.65x1.05 = 068w D1 2.3x1.675+1.625%2.2 = 7434
e ! “ B 0.82x1.25 = 1.03« D2 2.235x3.85 = B860r
. s . ], 6715 ' - N = 1 E1 2.235x3.85 = 860¢
&40 ) i E2 16750.35+1.81x4140415236 =  B.99¢
4= : BTSN F1 1.885x2.025+1.825x2.2 = 783
A igﬂﬁﬂﬁiﬁ?ﬁ n@tﬁﬁf“ﬂ‘ 2 Al 5.075¢3.42 = 173+ F2 1.675x2.675+3.825x1.325 = 9554
LB 24x2.5411.75+2.2x2.5+2.8x2.5+2.8x2.5+1x1.75  =29.00¢ > 77.83/8=9.73 ...0K 7k B 5045¢3.42 — 17258 E¥ER
Al [=4.52+7.92+2.95+1.47+0.85=17.69M < 40M AZ 2.4x2.5+2.4x2.5+2.4x2.5+0.9x1.3+1.6x1.5 =21.57¢ > 70. 06/8_8 76 ...0K CH 1.11X1.3+2.43X3.46+(4.57+3.13))(0.72/2 A 86.31-8.48 = 77.83¢
A2 [=4.61+6.23+3.45+1.47+0.85=16.61M < 40M A3 2.2x2.5+2x2.5+0.84x2.5+1x2.5+1.2x1.5 =16.90¢ > 60.73/8=7.59 ...0K R e 1115098 +4 57x3.2:+1.8x1.85 - D7 A2 776-7.5¢ — 7006¢
A3 L=3.81+3.49+4.67+3.3141.4740.85=17.6M < 40M Bl 2.4x2.5+1.8x2.5+0.84x2.5+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ...0K 777 v DN 2.7x4.5740.59x1.05+0.35x0. 741.275x0.38 A3 68.86-8.13 - 0T3¢
Bl L=1.9745.98+6.85+1.02+0.75=16.57M < 40M B2 2.4x2.5+2.4x2.5+2.2x2.5¢1.4x1 B+1x1.75+1.6x1.4 =24.01¢ > 71.44/8=8.93 ...0K /i +4.09x2.89 - 25508 Bl 66.77-813 ~ sgeAd
B2 L=4.6+6.55+5.22+1.05+1.02+0.75=19.19M < 40M B3 2.4x2.5+2.4x2.5+2.4x2.5+2x2.5+1.6x1.5 =25.40¢ > 85.35/8=10.67 ...0K EM 3.4%2.5042.15¢1.05+3.4x3.17 = g4 B2 79.85-8 41 = i4ky
B3 L=4.63+4.69+3.45+2.61+1.05+1.02+0.75=18.2 < 40M 1 2.4x2.5+2.4x2.5+2.4¢2.5+2x2.5+1.6x1.5 =25.40¢ > 82.94/8=10.37 ...0K P 2.305¢4.27+2.29x3.6 = 1817¢ B3 9457-9.92 - 8535¢
Ol L=4.7+6.82+1.32+1.52=14.36M < 40M C2 2.4x2.5+2.4x2.5+2.4x2.5+1.6x1.5+1x1.75 =2215¢ > 78.75/8=9.84 ...0K N = 1329¢ o 92.16-9.22 = 8294¢
€2 1=9.61+4.4=14.01M < 40M DI 2.2x2.5+2.4x2.5+1.6x1.5+2X1.5+2x2.5+1.4x2.5  =25.40¢ > 89.55/8=11.19 ..0K TR 2 88.77-10.02 - 7875¢
DI L=4.0144.49+7.78+0.71=16.99M < 40M D2 1.4x1.5+2.8x2.5+2.6x2.5+2x1.5+1.6x1.5 =21.00¢ > 93.27/8=11.66 ...0K A 2.35%2.15 - 505¢ D1 96.98-7.43 — B9SSH
D2 L=4.77+9.12+0.98=14.87M < 40M E1 2.8x2.5+2.8x2.5+2x2.5+1.6x1.5+1x1.75 =23.15¢ > 70.61/8=8.83 ...0K BY 2.4x217 = 520 D2 10187-8.60 - 93a7¢
1 L=4.5142.48+2.34+3.3+2.77=15.4M < 50M 2 2.8x2.5+2.8x2.5+2.4x2.5+1.6x1.5+1x1.75 =2415¢ > 70.96/8=8.87 ...0K B 235215 = 505¢ E1 79.21-8.60 = 70614
2 L=4.5+5.78+0.87=11.15M < 50M FI 2.4x2.5+2.4x2.5+1.8x2.5+2.2x2.5 =22.00¢ > 59.59/8=7.45 ...0K FEEFFFE|wa e 21x2 = 4208 2 79.95-8.99 — 7096¢
r1 1=3.56+1.93+6.69+1.94=14.12M < 50M F2 2.2x2.5+2.2x2.5+2.6x2.5+2.2x2.5+0.9x2.5 =25.25¢ > 57.58/8=7.20 ...0K e e = 19518 Fl 6742-7.83 - 59504
L=4.3+5.75+0.71=10.76M < 50M W A ST F2 67.13-955 = 57.58¢
!”1 (K s unon ABH2.7x2.5 = 6.75¢
M [=4.52+7.9242.93+1.47+0.85=17.69M < 20M RN - CH 2.45¢0.55 = 695¢
A2 |=4.6146.23+3.45+1.47+0.85=16.61M < 20M DE 25x2.45 - B3¢
A3 L=4.46+2.57+4.63+2.48+1.47+0.85=16.46M < 20M Nt = 19138
Bl L=4.57+2.96+7.69+1.0240.75=16.99M < 20M HERER
B2 L=4.6+6.55+5.22+1.05+1.02+0.75=19.19M < 20M CH 4.5x2.39+1.450.4 = 134e
B3 L=4.63+4.69+3.45+2.6141.05+1.024+0.75=18.2M < 20M DB 2.45x4.085+1.425x1.15 = 1165
Ol L=4.7+6.82+1.32+1.52=14.36M < 20M N - 2209¢
€2 1=9.61+4.4=14.01M < 20M MR
D1 L=4.01+4.49+7.78+0.71=16.99M < 20M A,B#0.55x1.65x2 = 1820
D2 L=4.58+8.07+0.98=13.63M < 20M % 153540, - 3760 - 2w LR gL E
1 L=4.5142.48+2.34+3.3=12.63M < 50M Dm 1L = ?,;S,, ®11-20 % W 7&! BT %](S 1 300)
2 L=4.5+5.78=10.28M < 50M
F1 L=356+1.93+6.69+1.94=12.18M < 50M
F2_=4.345.75+0.71=10.05M < 50M
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Al
A2
A3
B1
B2
B3
¢!
C2
D1
D2
£1
E2
F 1

1=4.52+7.92+2.93+1.47+0.85=17.69M < 40M
[=4.61+6.23+3.45+1.47+0.85=16.61M < 40M
[=3.81+3.49+4.67+3.31+1.47+0.85=17.6M < 40M
1=1.97+5.98+6.85+1.02+0.75=16.57M < 40M
[=4.6+6.55+5.2241.06+1.02+0.75=19.19M < 40M
[=4.63+4.69+3.45+2.61+1.06+1.0240.75=18.2M < 40M
=4.7+6.8241.3241.52=14.36M < 40M
[=9.61+4.4=14.01M < 40M
1=4.01+4.49+7.78+0.71=16.99M < 40M
[=4.77+9.12+0.98=14.87M < 40M
[=4.51+2.48+2.34+3.3+2.77=15.4M < 50M
1=4.5+5.78+0.87=11.15M < 50M
[=3.56+1.93+6.69+1.94=14.12M < 50M
=4.3+5.75+0.71=10.76M < 50M

w&m

A
A2
A3
B
B2
B3
C1
€2
D1
D2
E1
£2
F1
F2

=4.52+7.92+2.93+1.47+0.85=17.69M < 20M
[=4.6146.23+3.45+1.47+0.85=16.61M < 20M

1 =4.46+2.57+4.63+2.48+1.47+0.85=16.46M < 20M
[=4.57+2.96+7.69+1.02+0.75=16.99M < 20M
=4.6+6.55+5.22+1.05+1.0240.75=19.19M < 20M
=4.63+4.69+3.45+2.61+1.05+1.0240.756=18.2M < 20M
[=4.7+6.8241.32+1.52=14.36M < 20M
1=9.61+4.4=14.01M < 20M
[=4.01+4.49+7.78+0.71=16.99M < 20M

| =4.58+8.07+0.98=13.63M < 20M
1=4.5142.48+2.34+3.3=12.63M < 50M
=4.5+5.78=10.28M < 50M
1=3.56+1.93+6.69+1.94=12.18M < 50M

| =4.3+5.75+0.71=10.05M < 50M
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2.4x2.5+1x1.75+2.2x2.5+2.8x2.5+2.8x2.5+1x1.75  =29.00¢ > 77.83/8=9.73 ...

A2
A3
B1
B2
B3
¢
€2
D1
02
E1
£2
F
F2

2.4x2.5+2.4x2.5+2.4x2.5+0.9x1.3+1.6x1.5
2.2x2.5+2x2.5+0.84x2.5+1x2.5+1.2x1.5
2.4x2.5+1.8x2.5+0.84x2.5+1x2.5+1.4x1.5

=21.57d > 70.06/8=8.76 ...
=16.90¢" > 60.73/8=7.59 ...
=17.20¢ > 58.64/8=7.33 ...

2.4x2.5+2.4x2.5+2.2x2.5+1.4x1.8+1x1.75+1.6x1.4  =24.01¢ > 71.44/8=8.93 .

2.4x2.5+2.4x2.5+2.4x2.5+ 2x2.5+1.6x1.5
2.4x2.5+2.4x2.5+2.4x2.5+ 2x2.5+1.6x1.5
2.4x2.5+2.4x2.5+2.4x2.5+1.6x1.5+1x1.75
2.2x2.5+2.4x2.5+1.6x1.5+2x1.5+2x2.5+1.4x2.5
1.4x1.5+2.8x2.5+2.6x2.5+2x1.5+1.6x1.5
2.8x2.5+2.8x2.5+2x2.5+1.6x1.5+1x1.75
2.8x2.5+2.8x2.5+2.4x2.5+1.6x1.5+1x1.75
2.4x2.5+2.4x2.5+1.8x2.5+2.2x2.5
2.2x2.5+2.2x2.5+2.6x2.5+2.2x2.5+0.9x2.5

=25.40¢ > 85.35/8=10.67 .
=25.40¢ > 82.94/8=10.37 .

=22.15¢ > 78.75/8=9.84 ...

=25.40¢ > 89.55/8=11.19 .
=21.00¢ > 93.27/8=11.66
=23.15¢ > 70.61/8=8.83 .
=24.15¢ > 70.96/8=8.87 .

=22.00¢ > 59.59/8=7.45 ...
=25.25¢ > 57.58/8=7.20 ...

OK
0K
0K
0K
.0K
0K
.0K
0K
..0K
..0K
0K
0K
OK
0K

i
&R
7im

mn

&31 A

— B &P BREtE
ENEH

Al
A2
A3

Bl
B2
B3
Cl
C2
D1

D2

K1
E2
F1
F2
Nt

BOEH

Al
A2
A3
Bl
B2
B3
C1
C2
D1
D2
K1
E2
F1
F2

4.1%0.45+3.595x2.35+5.7x11.37+4.15x2.7
10.295x3.05+11.345x2.65+1.675x2.15+2.6x4.82
0.8x2.17+2.8x5.075+2.5x3.52+6.775x3+8.375x2.75
+0.45x1.675

8.37x2.8+6.77x3+2.75x8.37
0.85x1.475+2.626x7.125+10.475x5.3+2.65x1.65
4.6x2.65+4.27x3.45+6.715x6.4+1.45x2.17+3.5x6.15
1.85x5.75+5.3x1.33+7.44x9.6+1.15x2.65
2x1.725+3.8x4.97+2.45%2.575+7.15x5.675+3.78x5.3
1.676x2.45+2.675x4.235+3x4.685+3.985x2.775
+3.225x3.085+2.89x2.055+7.145x5.675
4.21x1+1.73x1.45+8.49x9.71+0.59x1.65+ 5.35x2
+2.6x0.4

1.76x1.45+4.3x9.71410.71x3.26
2.835x1+4.86x0.35+7.505x9.71+1.75x1.45
2.515x3.15+2.3x1.06+1.885x2+9.435x5.65
7.65x1.85+6.5x8.15

1.0x3.775+4.3x1.3
3.795x1.0+1.95x2.6

3x1.675

3x1.675

1.95x2.625+3.55x1.0
4.27x1.675
3.68x1.675+1.11x1.6+3.37x1.0
2.97x1.8+1.0x3.35
3.225x1.675+1.0x3.425
1.525x2.55+3.12x1.2
1.526x2.55+3.12x1.2
2.92x1.525+3.12x1.2
2.3x1.525+2.0x2.175+0.775x0.375
2x1.425+1.925x1.5

A,B#O.35x1.5+1.35x1.3+1.425x14.675+1.35x1.275

D#
Nt

1.35x1.85

SR

A4
BM
CH
D
1.3
F
Nt

0.65x1.05+3.4x3.4+3.76x2.68
0.82x1.25+5.1x2.6

2.25x5.11

5.6x2.51

2.4x3.4

2.29x4.05

SO M B

A%
B
Nt:

0.65x1.05
0.82x1.25

REB

A%
B
Ch

D#
Ex

Fu
/Nt

5.075x3.42

5.045x3.42
1.11x1.3+2.43x3.46-+(4.57+3.13)x0.72/2
+1.11x1.98+4.57x3.241.8x1.85
2.7x4.57+0.59x1.05+0.35x0.7+1.275x0.38
+4.09x2.89

3.4x2.59+2.15x1.05+3.4x3.17
2.525x4.27+2.29x3.6

FHTEBG

Al
B
E®
Fi
Nt

2.35x2.15
2.4x2.17
2.35x2.15
2.1x2

o mwun

RETHHRTH 3

AB#2.7x2.5

Ch
D&

/Nt:
TR

CH
D&
Nt:

2.45x2.55
2.5x2.45

4.5x2.39+1.45x0.4
2.45x4.085+1.425x1.15

nmn

B LT

A,B#0.55x1.65x2

D&
Nt

1.536x2.45

nmuwuwmwuwn

L [ | | | | [ (O (| | O 1 B |

86.311
7161

68.86 "
66.77
79.851
94.57 ot
9216 ot
88.77¢

96.98 "

101.87
79.21e
79.95+
67.421
67131
1147.45n

9.37+¢
8.87n
503
503
8671
JARL)
.31
8.70n
8831
1.631¢
7.63n
820
8.15n
5.741
2491
2,50
137.72¢

22.321
1429
11.50 o
14.06 o

8164

9.27+
79.60

0.68r
1.03
1.7

17.36
17.25¢

32.77¢

26511
21.84 ¢

1817+
132.9¢

5.051

5.1
5.05+
420
19.51

6.751
6.251
613
1913

1.34¢
11.651
22,99

1.820
3.76d
5.58

= It B
R

1147.45+79.60+132.9+19.51+19.13+22.99+5.58

B ARE R
137.72¢

B AR S
79.60-1.71=77.89¢

W+ S AT R
137.72477.89=21561¢ > 1427.16x15%=214.07¢
215.61-214.07=1. 541 ¥ Armipesn)

SR
132.9+19.13+22.99+5.58=180.6¢
SRR
1427.16-77.89-180.6+1.54=1170.21¢
()

= EEPMR 14P
I R R

A, B ,CHAD1 R 7 4. A5ME; DBAT O G 7.65M 2%,

I CA R 05 AR
A,Bl (11~21R) - sEsasne

< 1427.16x10%=142.724¢ ...
< 1427.16x10%=142.72¢" ...

= 1427.16¢

0K
0K

(86.31+79.95+68.11+66.77+79.85+94.57)x11=5231.16 > 500¢

Ca (11~21

D& (11~19K) — wENa7RS

- wEasme (92.16+88.77)x11=1990.23# > 500%

(96.98+101 87 x3+(96.98+91.70)x6=1728.63¢ > 500«
Eu é11~13:; §79 .21479. 953)(3—477 48 < 500
5

11~13

il ﬁ@’é’@ﬁb‘iﬁ?

AB® 3.76x2.68=10.08¢ > 10.00¢...0K
CR  4.5x2.39+1.45x0.4=11.34¢ > 10.00...0K
DB 2.45x4.085+1.15x1.425=11.65¢ > 10.00...0K

A KRR S Hil R

ABE (17.36+17.25+10.08)=44.69¢

67.42+67.13)x3=403.65

< 5004

> (77.83+71.87+59.98+58.64+71.44+85.35)x3%=12.75¢

CH Es1.o7+11.34;=

D# (25.51411.65)=37.168" > (89.55+93.27)x3%=5.48¢
t BXERY

FIFTE®R

Al 1.25x0.45+1.575x2.1741.65x2.725 =  B8.48d
A2 1.675x2.175+1.675%2.325 = 154d
A3 1.775x2.1+2.75x1.6 = 813«
Bl 1.775x2.14+2.75x1.6 = BA3d
B2 1.5x2.65+1.675x2.65 = 841
B3 1.625x2.4+1.6x3.325 = 922«
C1  1.625x2.4+1.6x3.325 = 922«
C2 3.355x1.6+2.695x1.725 = 10.02«
D1 2.3x1.675+1.625x2.2 = 143
D2 2.235x3.85 = 860d
E1 2.235x3.85 = 860d
E2 1.675x0.35+1.81x4.1+0.415x2.36 = 899«
F1 1.885x2.025+1.825x2.2 = 783«
F2  1.675x2.675+3.825x1.325 = 9.55¢
EEmR

A1 86.31-8.48 = 7183«
A2 77.6-7.54 = 70.06¢
A3 68.86-8.13 = 60.73«¢
Bl 66.77-8.13 = 58.64n
B2 79.85-8.41 = T.44d
B3 94.57-9.22 = 85.35¢
€1 92.16-9.22 = B294+¢
C2 88.77-10.02 = 78.75¢
D1 96.98-7.43 = 89.55¢
D2 101.87-8.60 = 9327+«
E1 79.21-8.60 = 7061«
E2 79.95-8.99 = 7096«
F1 67.42-7.83 = 59.59«¢
F2 67.13-9.55 = 51.58¢

B11-22= & & # 3+ & B(S=1/300)

424108 > 582.94+78.75;x3%=4.85|'
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— B &P BHREEE = it e
AT T e
A 41x0.45+3.505x2.3545.7x11.37+4.15¢2.7 = 863 1147.45+79.60+132.0+19.51410.13422.9945.58 = 1427.16 ¢
A2 10.295x3.05+11.345x2.65+1.6752.15426x482 = 7760 WA AR
A3 0.8x2.17+2.8x5.075+2.53.5246.775¢3+8.375¢2.75 135.75¢ < 1427.06x10%=142.72¢ ..OK
+0.45x1.675 - 6B.86W AR
Bl B.37x2.8+6.773+2.75:8.37 = 86770 79.60-1.71=77.80¢ < 1427.16x10%=142.72¢ ..OK
B2 0.85x1.475+2625x7125+10.475¢5.34265x1.65 = 79.85¢ W S AR
B3 4.6x2.65+4.27x345+6.715x6.4+1 45x2.17+3.5¢6.15 =  94.57¢ 13575+ 77.80=213.64¢ < 1427.16x15%=214.07¢ ...OK
Ol 1.85x5.75+5.3x1.33+7.44x9.6+1.15x2.65 = 916 SRR
€2 2x1.725+3 844,97+ 2.45x2.375+ 7.15x5.675+3.78:5.3=  88.77 ¢ 132.0+19.13+22.99+5.58=180.6¢
DI 1.675¢2.45+2.675x4.235+ 3x4.685+3.985x2.775 5
+3.225¢3,085+2.89x2.055+ 7.1455.675 = 96.98¢ 1427.16-77.89-180.6=1168.67¢
D2 4.21x1+1.73x1.45+8.49x9.7140.50x1.65+5.35%2 (va)
+2.640.4 = 10187¢
S— E1 1.75K1.45+4.360.71410.71x3.26 = 7910 ZEBPEmE 14F
BB, E2 2.835x1+4.86%0.35+7.505x9.71+1.75¢1.45 = 7995¢
FI 2.515x3.1542.3¢1.05+1.885¢2:+9.435x5.65 = 67420 1 R AR
1 F2 7.65¢1.85+6.5x8.15 - 67130 K05, 08001 AT 45\108 DNAISRASS G,
i N = 1147.45¢ WA, A1 05 AR
ABE (11~214) — SERGRR
o WA (86.31479.95+68.11+66.77+79.85+94 57)x11=5231.16 > 500¢
[ M 103775443013 = 93w CH (11~21N) — wmwazinm (92.16+88.77)x11=1990.23¢ > 500¢
s A A2 3.795¢1.0+1.95¢2.6 - g8re DN (11~19K) - wENATRR
A3 31675 - 503 (96.98+101. 87 x3+(96.98+91.70)16=1728.63¢ > 500¢
B 3675 = 503 Ex E11~13:; §7921+7995 x3=477.48¢ < 5008
g B2 1.95¢2.625+2.975x1.0 T T Fi (1130 — 888 (67.42467.13)x3=40365 < 500¢
o B3 4.27x1.675+3.35x1.0 = 1050¢
T o Ol 3681.675+.11x1.6+3.25¢1.0 R TRCT ., R E R
| gﬁ’ €2 2.971.8+1.063.37 - ane ABH 3.76x2.68=10.08¢ > 10.00...0K
5 | 9 DI 3.225¢1.675+1.0¢3.425 - 8g3w CH  45x2.39+1.450.4=11.34¢ > 10.00¢...0K
| D2 1.525¢2.55+3.12¢1.2 = 763¢ DB 2.45¢4.085+1.15x1.425=11.65¢ > 10.00...0K
2 E1 1.525¢2.55+3.12¢1.2 = 763¢ .
. = E2 2921.525+3.12x1.2 = 820w A e iR
Fl 231525 = 350 ABR (17.36+17.25+10.08)=44.69¢
: F2 21.425H.9251.5 = 574 > (77.83+71.87+59.98+58.64+71.44+85.35)x3%=12.75¢
- S— ] ABRO.35x1.5+1.35¢1. 3+1.425x14.675+1.35¢1.275 = 2498 Ch €31.o7+11‘34§=42.m > 582.94+78.75;x3%=4.85f
& o % DA 1.35¢1.85 = 2500 DB (25.51411.65)=37.16¢ > (89.55+93.27)x3%=5.48¢
55 Nt = 135.75¢
o o e , R t BEEREE
A il e AN 0.65x1.05+3.4x3.4+3.76x2.68 = 2a¢ TR
B 1T R N | B 0.82x1.25+5.1x2.6 = 14290 M 1.25045+H.57521741.652725 =  BA48H
. (T .| CH 225611 = 1150¢ A2 1.675¢2.175+1.675%2.325 = 754¢
¢k DA 5.6x251 = 14060 A3 1775x2142.75¢1.6 - B3
& i . ! BN 2.4x3.4 = gi6e Bl 1.775x2.142.75¢1.6 - B3
= R ‘ F& 2.204.05 = oo B2 1.5x2.65+1.675x2.65 YT
s N - 7960¢ B3 1.625¢2.4+1.6¢3.325 - one
Ol 1.625¢2.4+.6x3.325 YT,
£ L& bl o) s R EOM BRI €2 3.355x1.6+2.6951.725 = 1002¢
AX 0.65x1.05 = 088¢ DI 2.3x1.675+1.625¢2.2 = 743¢
7.146 715 133 35 10475 BN 0.624.25 - 1'073"’ 212 g%ggxggg - ggg'
: : 115 B N = e 23543, - 860¥
, S 0 TAIOIHNIOAS® < aee
N STt ﬂ@tﬁﬁ*‘“ﬂl Mmtx FI1.885¢2.025+1.825¢2.2 - 783¢
) 24 5H1K1.75+2.2x2.5+2.82.5+2.8x2.5+1x1.75  =29.00¢ > 77.83/8=9.73 ..0K e i e ol Ll S e
A L=4.5247.92+2.93H.47+0.85=17.69M < 40M AR ey 21574 > 70.06/8=8.76 ..OK O S RSSO = T A Besiads . T
A2 L=461+6.23+3.45+1.47+0.85=16.61M < 40M A3 2.2x2.5+2x2.5+0.842.5+1x2.5+1.2x.5 =16.90¢ > 60.73/8=7.59 ..OK bR e - T A2 77.6-7.54 — 7006¢
A3 (=3.8143.49+467+3.31+1.47+0.85=17.6M < 4OM Bl 2.4x2.5+1.8x2.5+0.842.5+1x2.541.4x1.5 =17.20¢ > 58.64/8=7.33 ..OK W Ll = o A3 BRE6-BA3 — 6073¢
BI L=1.97+5.98+6.85+1.02+0.75=16.57M < 4OM B 2.4X2.5+24x2.5+2.2x05+1 41 B+IXL.I5H.6x1.4  =24.01¢ > 71.44/8=8.93 .. 0K iRl I Bl 6677-813 - Eabir
B2 L=4.6+6.55+5.22+1.05+1.0240.75=19.1M < 4OM B3 2.4x2.5+2.442.5+2.4x2.5+2x2.5+1.6x1.5 =25.40¢ > 85.35/8=10.67 ..OK b TR s e i = 2 B 7085-841 -y
B3 [=4.63+469+3.45+2.61+1.05+1.02+0.75=18.2M < 40M Ol 24x2.5+2.442.5+2.4x2.5+2x2.5+1.6x1.5 =25.40¢ > 82.94/8=10.37 ..OK M 2350407420036 - 817 B3 9457-9.22 = 8535¢
Ol [=4.7+6.82+1.32+1.52=14.36M < 40M 02 2.4x2.5+2.442.5+2.4x2.5+1.6x1.5+1x1.75 =2215¢ > 78.75/8=9.84 ...0K N IIMITLLR s iney & 0316 997 - b
€2 [=9.61+4.4=14.01M < 40M D1 2.2x2.5+2.4x2.5+1.6x1.5+2x1.5+2x2.5+1.4x2.5 =25.400" > 89.55/8=11.19 ...0K m’ ' c2 88.77-1b02 - 78.75f
DI [=4.0144.49+7.78+0.71=16.99M < 40M D2 1.4x1.5+2.8x2.5+2.6x2.5+2x1.5+1.6x1.5 =21.00¢ > 93.27/8=11.66 ...0K — e ST . ik D1 96.98-743 8955
D2 L=4.7749.12+0.98=14.87M < 4OM El 2.8x0.5+2.8¢0.5+ 2x2.5+.6x1.5+11.75 =23.15¢ > 70.61/8=8.83 ..0K T el = au D2 10187-860 = ©27e
El L=4.51+2.48+2.3443.3+2.77=15.4M < 50M E2 2.8x2.5+2.8¢2.5+2.4x2.5+1.6x1.5+1x1.75 =24.15¢ > 70.96/8=8.87 ..OK o ER 235015 - 505¢ £l 79.21-860 ~ J061e
£ [=4.5+5.78+0.87=11.15M < 50M FI o 2.4x2.5¢24x2.5+.8x2.5+2.262.5 =22.00¢ > 59.50/8=7.45 ...0K FEFFTT] e o8 S = o & adu o ol
FI (=3.56+1.93+6.69+1.94=14.12M < 50M F2 2.0x0.542.2¢0.5+2.6x2.5+2.242.5+ 0.9x2.5 =25.05¢ > 57.58/8=7.20 .0K - g L . e e & o
FL_LSETo0 =107 < M D )y oL— F2 67.13-9.55 - 5758¢
M L=452+7.9242.93+1.47+0.85=17.69M < 20M ) s éf“g-zgz-;ss = g;g;
A2 L=461+6.23+345+1.47+0.85=16.61M < 20M ol et ol o
A3 L=4.46+2.57+4.65+2.48+1.47+0.85=16.46M < 20M oY Ao .
Bl (=4.57+2.96+7.69+1.02+0.75=16.99M < 20M P, T =
B L[=4.6+6.55+5,22+1.05+1.02+0.75=19.1M < 20M oS s
B3 (=4.63+4.69+3.45+2.61+1.05+1.02+0.75=18.2M < 20M . s
C1 L=4.7+6.82+1.32:+1.52=14.36M < 20M o = 2008
€2 [=9.6144.4=14.01M < 20M .- = 2
DI (=4.0144.49+7.78+0.71=16.99M < 20M o CLdE .
Bl LoASTioARI2 I SI 126 < SOH DI 1535245 - 37 B11-24 ~ & & 73+ & B)(S=1/300)
£ L=4.5+5.78=10.28M < 50M . = 5.8« R
FI (=3.56+1.93+6.69+1.94=12.18M < 50M
F2 (=4.3+5.75+0.71=10.05M < 50M
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— B &P BHIREREE — i R
ENEH LE T
Al 41%0.45+3.595x2.35+5.7x11.37+4.15x2.7 = 863 1147.45+79.60+132.9+19.51+19.13+22.9945.58 = 1427.16 ¢
A2 10.295¢3.05+11.345¢2.65+1.675x2.15+2.6x482 =  77.6¢ WA AR
A3 0.8¢2.17+2.845.075+2.53.52+6.775x3+8.375¢2.75 141,420 < 1427.16x10%=142.72¢ ..OK
+0.45X1.675 = 6886 LU
B B.37x2.8+6.77x3+2.75:8.37 = 66.77¢ 79.60-1.71=77.80¢ < 1427.16x10%=142.72¢ ..0K
B2 0.85x1.475+2.625x7.125+10.475¢5.3+2.65¢.65 = 79.85¢ W+ S A
B3 4.6x2.65+4.27x3.45+6.715x6.4+1.452.17+3.5:6.15 = 9457+ 141.42477.89=219.31¢ > 1427.16x15%=214.07¢
Ol 1.85¢5.75+5.3x1.33+7.44x9.6+1.152.65 = 916 219.31-214,07=5. 24 ANBRSE)
€2 2x1.725+3.8x4.9742.45x2.375+7.15x5.675+3.78x5.3= 8877+ i e
DI 1.675x2.45+2.675x4.235+ 3x4,685+3.985x2.775 132.9419.13+22.99+5.58=180.6¢
+3.225¢3.085+2.89x2.055+7.145x5.675 = 96.98¢ RARSERRS
7 D2 4.21x1+1.73x1.45+8.49x9.71+0.59x1.65+5.35x2 1427.16-77.89-180.6+5.24=1173.91¢
;//g " +2.640.4 = 101.87¢ (wa)  (wam) (Hageniom)
1.75x1.45+4.3x9.71+10.71x3.26 = 9N _
/i - E2  2.835x1+4.86x0.35+7.505x9.71+1.75x1.45 = 79.95¢ = EBPEns 4P
: FI 2.515%3.15+2.3x1.05+1.885x2+9.43545.65 = 67420
. F2 7.65¢1.85+6.5:8.15 - 673¢ RS E R
N = 114745 A%, B,CHA1 M RET4, ASM A% DA O 45 7.65M RN,
SR RGN R UA WA 05 AR
7, ok BT ABH (11~218) - wENA7RN
2 é e A 1.0x3.775+4.3.3 = 937 (86.31479.95+68.11+66.77+79.85+94,57)x11=5231.16 > 500¢
/ a " A2 3.795¢1.0+1.95x2.6 = B8 cH E11~21 — wENATR (92.16+88.77)x11=1990.23¢ > 500¢
an A3 31675 = 503 DA (11~19N) - KENA7NE
Bl 3x1.675 = 503 (96.98+101.87)x3+(36.98+91.70)x6=1728.63¢ > 500¢
- B2 1.95x2.625+3.56x1.0 = 867 EX §11~13 - aen ?79.21+79‘953x3=477448n'< 500¢
e o B3 4.27x1.675 = 715¢ Fi (1113 67.42467.13)x3=403.65 < 500¢
[ ) C1 3.68x1.675+1.11x1.6+3.371.0 = 13
| sﬁ €2 2.971.8+1.0x3.35 - 870¢ T, BER R
5 | = DI 3.225¢1.675+1.0x3.425 = 883 ABH 3.76x2.68=10.08¢ > 10.00¢...0K
| D2 1525x2.55+3.12x.2 = 783 CH  45¢2.39+1.450.4=11.34¢ > 10.00¢...0K
2 & ! E1 1.525x2.55+3.12x1.2 = 783w DM 2.45x4.085+1.15x1.425=11.65¢ > 10.00¢...0K
E2 2.92x1.525+3.12¢1.2 = 820¢ Y
> FI 2.31.525+.225¢3.88+0.775x4.635 = 1185 A KRR KRR
| : F2 2x1.425+1.925¢1.5 = 574n ABB (17.36+17.25+10.08)=44.69¢
Hooooeeon . AB0.35x1.5+1.35x1.3+1.425x14.675+1.35x1.275 = 490 > (77.83+71.87+59.98+58.64+71.44+85.35)x3%=12.75¢
&) o gﬁ DM 1.35¢1.85 = 2500 Ck %31.o7+11.34g=42.4w > (B2.94+78.75)x3%=4.85¢
>% Nt = 14420 DB (2551+11.65)=37.168 > (89.55+93.27)x3%=5.48+¢
04
w) HEERN g
G i % % AR 0.65x1.05+3 43 4+3.76x2.68 - 3t t BEERHE
i Tl B 0.82x1.25+5.1x2.6 = 14.29¢ TR
b (i L CH 2.25x5.11 = 11.50¢ A 1.25:0.45+1.575x2.17+1652.725 =  B.48¢
% c R D 5.6x2.51 = 14060 A2 1.675x2.175+1.675%2.325 = 754+
iﬁz T i M 2.4x3.4 = 816¢ A3 1.775x2.142.75x1.6 = 813d
< / % : Fi 2.29%4.05 = 927+ Bl 1.775x2.1+2.75x1.6 = 813«
o N = 7960 B2 1.5x2.65+1.675x2.65 = Bl
B3 1.625x2.4+1.6x3.325 = 90
(&) g T o SR E2M R C1 1.625x2.4+1.6x3.325 = ¢
A% 0.65x1.05 = 068¢ €2 3.355¢.6+2.695x1.725 = 10.02¢
B 0.82x1.25 = 1.03¢ DI 2.3x1.675+1.625¢2.2 = 743¢
7.146 15 3|1 6715 Nt = 1.7 D2 2.235x3.85 = 860«
Ew = E1 22354385 = 860¢
/_ =
\ i AR , - - e = I8
T 2.4x2.5+41x1.75+2.2x2.5+2.8x2.5+2.8x2.5+1x1.75  =29.00¢ > 77.83/8=9.73 ...0K 77/ e S 5-045"3-42 . s F2 167526754 3.825x1.325 - g5
A L=4.5247.92+2.93+1.47+0.85=17.60M < 40M A2 2.4x2.5+2.4x2.5+2.4x2.5+0.9x1.3+1.6x1.5 =21.57¢ > 70.06/8=8.76 ..0K Kk inr s e (45TH313M072/2 = i T
A2 L=4.61+6.23+3.45+1.47+0.85=16.61M < 40M A3 2.2x2.5+2x2.5+0.84x2.5+1x2.5+1.26.5 =16.90¢ > 60.73/8=7.59 ...0K BRRLwen 1101 0814 67 3;+1‘STB‘5 0. - D7 M 86.31-8.48 = 77.83¢
A3 [=3.81+3.49+4.67+3.31+1.47+0.85=17.6M < 4OM Bl 2.4x2.5+1.82.5+0.8425+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ..0K v DB 2 7ok 570500 D105 7+ 75038 = 8 A2 776-754 70064
B L=1.97+5.98+6.85+1.0240.75=16.57M < 40M B2 2.4x2.5+2.4x2.5+2.2x2.5+1.4x1 8+1x1.75+1.6x1.4 =24.01¢ > 71.44/8-893 ...0K 4 kew AR R — A3 6886-8.13 — 6073¢
B2 L=46+6.55+5.22+1.05+1.02+0.75=19.19 < 40M B3 2.4x2.5+2.4x2.5+2.4x2.5+2x2.5+1.6x1.5 =25.400 > 85.35/8=10.67 ...0K EN 34505042 15¢1.0543 46317 e B 66.77-813 Y
B3 L=4.63+4.69+3.45+2.61+1.05+1.0240.75=18.2M < 40M C1 2.4x2.5+2.4x2.5+2.4x2.5+2x2.5+1.6x1.5 =25.40¢ > 82.94/8=10.37 ...0K FN 230504 27+2.2936 B A B 79.85-8.41 = e
C1 L=4.7+6.82+1.32+1.52=14.36M < 40M €2 2.4x2.5+2.4x2.5+2.42.5+1.6x1.5+1x1.75 =22.15¢ > 78.75/8=9.84 ...0K i - 139¢ B3 9457-9.92 — E535e
€2 [=9.61+4.4=14.01M < 40M DI 2.2x2.5+2.4x2.5+1.6x1.5+20.5+2x2.5+1.4x2.5  =25.40n > 89.55/8=11.19 ...0K = P~ : o 9216-9.22 B9
DI L=4.01+4.49+7.78+0.71=16.99M < 40M D2 1.4x1.5+2.8¢2.5+2.6x2.5+2x1.5+1.6x1.5 =21.00¢ > 93.27/8=11.66 ...0K == wm R 2015 - 5054 2 88.77-10.02 = 7875¢
D2 [=4.7749.1240.98=14.87M < 40M Bl 2.8x2.5+2.8x2.5+2x2.5+1.6x1.5+1x1.75 =23.15¢ > 70.61/8=883 ...0K e e = lhots D1 96.98-7.43 — B95Se
E1 L=451+2.48+2.34+3.3+2.77=15.4M < 50M E2 2.8x2.5+2.8x2.5+2.4x2.5+1.6x15+1x1.75 =24.15¢ > 70.96/8=8.87 ..0K fatat il = ey D2 10187860 - g3y7e
E2 L=45+5.78+0.87=11.15M < 50M FIo 2.4x2.5+2.4x2.5+1.8x2.5+2.2x2.5 =22.00¢ > 59.59/8=7.45 ...0K FEFFEF e ey - 17 Bl 79.21-860 — 70618
FI L=3.56+1.93+6.69+1.94=1412M < 50M F2 2.0x2.5+2.2x2.5+2.6x2.5+2.2%2.5+0.9¢2.5 =25.25¢ > 57.58/8=7.20 ..0K el S £2 79.95-899 709
7L LASISTHOTIOTN < S0 V) s . - FI 67.42-7.83 = 5959¢
Al L=45247.9242.93H.47+0.85=17.69 < 20M S S usmem ABRZRoS - F2 6713-055 57158 %
A2 L=461+6.23+3.45+1.47+0.85=16.61M < 20M ST T o
A3 L=4.46+2.57+4.63+2.48+1.47+0.85=16.46M < 20M 8.~ .
B L=457+2.96+7.69+1.02+0.75=16.99M < 20M .- = %
B2 L=4.6+6.55+5.2241,05+1.02+0.75=19.19M < 20M O LB AS C e
B3 [=4.63+4.69+3.45+2.61+1.05+1.02+0.75=18.24 < 20M oR 2 42 A 06511 ;2-51 15 . gy
O L=4.7+6.82+1.32+1.52=14.36M < 20M s 2 2wy
€2 L=9.61+4.4=14.01M < 20M LI - 4
DI L=4.01+4.49+7.78+0.71=16.99M < 20M A BRO.55.65:2 . Wit
D2 L=4.58+8.07+0.98=13.63M < 20M O g - = sp sl %
Bl L=454248+2.34+3.3=126M < 500 Y Lok = o B11-26 1 & o # - & B(S=1/300)

£2
F1
F2

[=4.5+5.78=10.28M < 50M
[=3.56+1.93+6.69+1.94=12.18M < 50M
[=4.3+5.75+0.71=10.05M < 50M
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CFR 12544 B E 63X (R53 ) M (AEEFES

BENELERE2Z IR E

— 18 %P BUREE:E — R
ENEH BiRER
Al 41x0.45+3.595x2.35+5.7x11.37+4.15x2.7 = 86.31¢ 1147.45+90.93+132.9+19.514+19.13+11.6545.58 = 1427.15¢
A2 10.295x3.05+11.345¢2.65+1.675x2.15+2.6x4.82 =  77.6% WA ARERGS
A3 0.8¢2.17+2.845.075+2.5x3.52+6.775x3+8.375x2.75 133.08¢ < 1427.15010%=142.72¢ ...0K
+0.45x1.675 = 6886 S AR
B B.37x2.8+6.77x3+2.75x8.37 = 66.77¢ 90.93-1.71=80.22¢ < 1427.15x10%=142.72¢ ..0K
B2 0.85x1.475+2.625x7.125+10.475¢5.3+2.65¢.65 = 79.85¢ WS AR
B3 4.6x2.65+4.27x3.45+6.715x6.4+1.452.17+3.5x6.15 = 9457+ 133.08+89.22=221.72¢ > 1427.15x15%=214.07¢ ...0K
Ol 1.85x5.75+5.3x1.33+7.44x9.6+1.15x2.65 = 916 221.72-214,07=7.65 it v
€2 2x1.725+3.8x4.97+2.45x2.375+7.15x5.675+3.78x5.3=  88.77¢ SRR
DI 1.675x2.45+2.675x4.235+3x4.685+3.985x2.775 132.9+19.13+11.65+5.58=169.26¢
+3.225¢3.085+2.89x2.055+7.145¢5.675 = 96.98¢ :
7 D2 4.21x1+1.73x1.45+8.49x9.71+0.59x1.65+5.35x2 1427.15-89.22-169.26+7.65=1176.9¢
+2.6x0.4 = 101.87¢ (%) (wam) (Mueim)
E1 1.75x1.45+4.3x9.714+10.71x3.26 = 7920 =
/i - E2 2.835x1+4.86x0.35+7.505x9.7141.75¢1.45 - 7995w ZEEFERE 14F
! : FI - 2.515x3.15+2.3x1.05+1.885x2+9.43545.65 = 67420
4 3 P2 7.651.85+65615 - 6713 I R E
i = Sy R — . = 1147454 A%A,B,CHADT B KH7 4. 45M 1% DBA1 OB KE6 7. 65M AR,
b | HOE-NRATRA SR OA B 05AR
7 ¢ Ll ABH (11~21H) — SEXA7BE
R T S T = Al 1.0x3.775+4.3x1.5 = 93 (86.31479.95+68.11+66.77+79.85+94.57)x11=5231.16 > 500¢
12} % N =t/ A2 3.795x1.0+1.95¢2.6 = 88 CH (11~21H) — WERGARR (92.16+88.77)x11=1990.23% > 500¢
0 / A3 3x1.675 = 503 D (11~19K) — wERa7RS
= i Bl 3x1.675 = 503« (96.98+101 87 x3+(96.98+91.70)x6=1728.63¢ > 5008
B2 1.95x2.625+3.55x1.0 = 8o/ E! 113 79.21479.95)x3=477.48¢ < 500¢
B3 4.27x1.675 AL FiE (1113 m 67.42+67.13)x3=403.65 < 500¢
C1 3.68x1.675+1.11x1.6+3.37x1.0 = 1.3 mmﬁﬁ
;E‘ €2 2.97x1.8+1.0x3.35 = 870 1, i
g D1 3.225¢1.675+1.0x3.425 = 88 ABR 3.76x2.68=10.08¢ > 10.00¢...0K
mH: D2 1.525x2.55+3.12x1.2 = 163¢ CH  4.5¢2.39+1.45¢0.4=11.34¢ > 10.00¢...0K
Ez ’23225?25321‘%}?1% = ggg: DB 2.45x4.085+1.15x1.425=11.65¢ > 10.00#...0K
.92x1. 12x1. = i i
Y FI 231525 = 35t A KR e G
= 7 F2 2x1.425+1.925¢.5 = S74d AB# (17.36+17.25+10.08)=44.69¢
’.’.’q‘o" A,B#O0.35x1.5+1.35x1.3+1.425x14.675+1.35x1.275 = 2491 > (77.83+71.87+59.98+58.64+71.44+85.35)x3%=12.75¢
‘.“:‘0 ?ﬁ D& 1.35x1.85 = 250¢ CH (31.07+11.34)=42.418 > (82.94+78.75)x3%=4.85¢
KK A, = 13308+ DB  (2551+11.65)=37.168 > (89.55+93.27)x3%=5.48¢
777 AT ; / BN .
/ b 2 Al 0.65x1.05+3.4x3.4+3.76x2.68 = 2.3 + BEZEEE
& ST~ 2 B 0.82x1.25+5.1x2.6 = 14290 [
- | = CH 2.2565.11+4.5¢2.39+1.4540.4 = 2283« A 1.25:0.45+1.575x2.17+1.65x2.725 = 848+
s ; == DA 56:251 = 1406¢ A2 16752.175+.675%2.325 = 754¢
§ Y, // 2 ; 2 EX 2.4x3.4 = 816 A3 1.775x2.142.75¢1.6 = 813¢
---------- / , % PR 2.29x4.05 = 927+ Bl 1.775x2.142.75¢1.6 = 813¢
B 175 . = 9093« B2 1.5x2.65+1.675x2.65 = B4l
: o B3 1.625x2.4+1.6x3.325 = 9¢
-------- I > = & B2 R R C1 1.625x2.4+1.6x3.325 = 9%
g | S: ggg:}gg = ?gg; C2 3.355x1.6+2.695x1.725 = 1002¢
| 82x1. = 1 DI 2.3x1.675+1.625¢2.2 = 743
: Crem " S 14 &715 = CH 14504 = 058¢ D2 2235x385 T
o S5 ﬂ%ﬁtﬁﬁ*ﬂ Mgfmr " = 29 £l 2.235x3.85 = 860¢
I\ 7B & E2 1.675x0.35+1.81x4.1404152.36 =  8.99¢
B 24x2.5+1X1.75+2.2x.5+ 2.8x2.5+ 282541175 =29.00¢ > 77.83/8=9.73 ..0K 7/ el ol F1 1.885x2.025+.8252.2 = 8¢
M L=45247.92+2.95+1.47+0.85=17.69M < 40M Az 2425+ 2.42.5+2.4x2.5+0.9x1.3+1.6x1.5 =21.57¢ > 70.06/8=8.76 ..0K o8 Ui S I5HA5T+31350.72/2 - F2_1G7adb75+3E254.52 = A5%¢
A2 L=4.61+6.23+3.45+1.47+0.85=16.61M < 40M A3 2.2x2.5+2x2.5+0.84x2.5+1x2.5+1.2x1.5 =16.90¢ > 60.73/8=7.59 ...0K R el — EXER
A3 L=38143.49+4.67+3.31+1.47+0.85=17.6M < 40M B 2.4x2.5+1.8x2.5+0.84x2.5+1x2.5+1.4x1.5 =17.20¢ > 58.64/8=7.33 ..0K 77 IR b i I = 9 Al 86.51-8.48 = 7783
Bl L=1.97+5.98+6.85+1.02+0.75=16.57M < 40M B2 242.5+2.4x2.5+2.2x2.51.4 BHIX1.75+1.6x1.4  =24.01¢ > 71.44/8=8.93 ..0K Z i L S —— A2 77.6-7.54 = 7006¢
B2 L=4.6+6.55+5.22+1.05+1.02+0.75=19.10M < 40M BY 2.4x2.5+2.4x2.5+24x2.5+2X2.5+1.6¢1.5 =25.40¢ > 85.35/8=10.67 ...0K ER 3.4 55421501.05+ 3 4317 : Ae A% 819 = X
B3 L=4.63+4.69+3.45+2.61+1.05+1.02+0.75=18.2M < 40M Ol 2.4x2.5+2.4x25+24x2.5¢ 2x2.5+1.6x1.5 =25.400 > 82.94/8=10.37 ...0K FN 2305x427420936 T P g = o
O L=4746.82+1.32:41.52=14.36M < 40M €2 242.5+2.4x2.5+24x2.5+1.6x1 5+1x1.75 =22.15¢ > 78.75/8=9.84 ...0K i - 139¢ 2 Boradl =
€2 L[=9.61+4.4=14.01M < 40M DI 2.22.5+2.4x2.5+1.6x1.5+2x15+2x25+1.4x2.5  =25.400" > 89.55/8=11.19 ...0K e RN : B3 94.57-9.22 = 85.35¢
DI L=4.01+4.4947.78+0.71=16.99M < 40M D2 1.4x1.5+2.8x2.5+2.6x2.5+2x1.5+1.6x1.5 =21.00¢ > 93.27/8=11.66 ...0K == B 0005 — (1 9216-9.22 = B294¢
D2 [=4.77+9.1240.98=14.87M < 40M Bl 2.8¢2.542.8x2.5+2x2.5+1.6x1.5+1x1.75 =23.15¢ > 70.61/8=8.83 ...0K m ol = T €2 88.77-10.02 = B¢
El [=4.5142.48+2.34+3.3+2.77=15.4M < 50M E2 2.8x2.5+2.8¢2.5+2.4x2.5+1.6x1.5+1x1.75 =24.15¢ > 70.96/8=8.87 ...0K BN 2Bt : Eee D1 96.98-743 = 8354
E2 L=45+5.78+0.87=11.15M < 50M FI 2.4x2.5+2.4x2.5+1.Bx2.5¢2.22.5 =22.00¢" > 50.59/8=7.45 ...0K FEFEF e ol ol D2 101.87-8.60 = 9327«
FI [=3.56+1.93+6.69+1.94=14.12M < 50M F2 2.0x2.5+2.2%2.5+2.6x2.5+2.2x2.5+0.9x2.5 =25.25¢ > 57.58/8=7.20 ...0K - R il ;o El  79.21-8.60 = J06I¢
F2 L=43+5.75+0.71=10.76M < 50M D 1)) oo S — = B E2 79.95-8.99 = 0.9+
e i — . Fl 67.42-7.83 = 5959
A [=4.5247.924+2.93+1.47+0.85=17.69M < 20M RN e cf 2-42'2 s ol - F2 67.13-9.55 = 57.58¢
A2 L=4.61+6.23+3.45+1.47+0.85=16.61M < 20M e S v
A3 L=4.46+2.57+4.63+2.48+1.47+0.85=16.46M < 20M a5 == e
B L=457+2.96+7.69+1.02+0.75=16.99M < 20M .- = B
B2 L=46+6.55+5.22+1.05+1.02+0.75=19.19 < 20M Ty S —
B3 L=4.63+4.69+3.45+2.61+1.05+1.0240.75=18.2M < 20M Se ARk = Al
O [=47+6.82+1.32+1.52=14.36M < 20M .- = W
€2 L=9.61+4.4=14.01M < 20M A _ g
DI L=4.01+4.49+7.78+0.71=16.99M < 20M g e De
D2 L=458+8.07+0.98=13.63M < 20M v S . fuv T oral
E1 L=451+2.48+2.34+3.3=12.63M < 50M : - ®11-28 - %1 W 7f - & Bl(S=1/300)
£2 L=45+5.78=10.28M < 50M
F1 L=3.56+1.93+6.69+1.94=12.18M < 50M
F2 L=43+5.75+0.71=10.05M < 50M
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